e R S—

35. What -
ar .
multi re the last three digits i

plication of _ gits in the

4321012345 x 98766789 ?

(1,0,5
(b) 2; 0,5
) 2,1,5

@

—

)OS

(d 3,0,5

A

R

p varies directly as (2 + y? +2%)-When

36.
3, then p =70. What

x= 1, y = 2, 7=
. is the value of p when x = -1, = 1,
z=57 .
(2) 100
(b) 125
(c) 135
@ 140
37. Let N b¢ the least positive multiple of
11 that Jeaves @ ainder c!f 5.when
divided by 0, 12, 15, 18. Which oné 0
the follow1ng is €O t?
(a) 900<N< 1000
(b) 1000 < N< 110
© 1100 < N < 1200
(d) 1200 < N < 1300
i '/L/'I‘fl 10 +
38. What 15 10+\[§ IHI;JF.
1 o 0 +,ﬁ«§g’:’f§§
e

13

@ 17

(b) 14
(¢ 11

| (@ 10

A o
Train X crosses a man standing ©n -
the platform in 24 seconds and train ¥

crosses @ man standing on the platform

in 18 seconds. They cross each other
. while running in opposite directions in
20 seconds. What is the ratio of speed

" of X to speed of Y7

By
w5

@ 1:2
@ 2:3
© 13
@ 3:4

e the roots of the equation
=0 and m, n be the roots of
the equation x> +px—4~ 0:(m,n, P> 4
are non-zero qumbers).~Which of the
following statements is/are correct 7

~ 40. Lct p,qb
2+ mx—n

I m(m+n) =-1

L p+qg=1"
Select the answer using the code given
below : ' Lokl

g

(a) I only
(b)) II only
(¢). Both T and I

(d) Neither I nor II

B — RAKU-T-EMT



P

41-%@3??3?3%?%,&4%[?:& (@) 7887
mg_r—%l)?ﬁaﬂﬁﬂk%, v pdt (b) 7997
@ o= 3 | | .(c) 8998
) ndd— (@) 9889
(©) n@L— %) B 45. 3255 & 28 & fawfm = g,: -
@ M-nk 1 R !
42. 3, 9, 27, 81, 243, 729, 2187a:r,guﬁm C ® 1
AT HT R ? | |
| - 24
@ 8l | L, (©)
| d) 27
(b) 105 ad?
© 144 AT 46, x(0 <x<8) T AW TR
- g | BN (10097+10054+x+1)a§r9ﬁ1%r_mha
(d) 2_43. N FA WA 0|
43, % s 9% @ 4, B, GDAE 0 L@-E
o & 10007 I 1ke, 2k, 4ke, 1 <o (b) 36
az e 1000 TT ¥ x kg T4 TA
@-aam%,a‘rxmraﬁm"mw%? (d) 1
@ 195 - A s pcwp@
SR g A 4p =0
) 200 | af 4BDC = ACED: 2P
© 205 e ;&wﬁ a e
!
@ 210 3
: @ a=Pp
T S s .
= Ry w\r deet (gEl o () @7 28
Wy, o w ©
@ 2a=3p

RAKU -.T“EMT - D



D

— g

a) M- s
(a) k o <
(®) nM -k g e
M (S
() n(M - k) S
: : 45.
@ M-me 1 22
~ 42. What is the geometric mean of G
3, 9,27, 81, 243, 729, 2187 2 2>
(a) 81
() 105
c) 144
bl ”
(d) 243
43. A person .purchases one kg of tea
powder from each of the four places
A, B, C, D at the rate of I1000 per
1 kg, 2 kg, 4 kg, 5 kg. If on an average
he purchased x kg of tea powder per
Z1000, then what is the approximate
value of x ? ‘
1000 _
(a) 195 47,
(b) 200 Gooe
(© | 2:05 o 00O
(d) 2-10 10O O .f__ /000

‘ 15t (n — 1) terms is k
then what is the nth number ? ’

44. What is the sum of the largest and the b) a= 2B
smallest 4-digit numbc::rs made by 8 e
using single ~digit prime numbers a=p
(without repetition) ? i @ 2g - i

9. &L Ty

5
7.5 &P
2% 57 9% 29

@989 | A

Q Y

(a) 7887 ‘\ -

(b) 7997 o

(c) 8998 e v 5 &
b 9

' - 255
What is the remainder when 377 1S

divided by 28 ?
S
i 7 R AN

I Dt e
(b) 11 <
(© 24 ) T
: ' ‘SW
(d) 27 gfb\;

V-
What is the value of x(0 < x < 8)

if (100”7 + 100°* + x + 1) leaves a
remainder 0 when divided by 9 ?

(2 8

©)s
(c) 4

@ 1

following is correct ?

@-a=p

A



48.

49.

50.

Let N = 12345678
pum]:er, where 4, B are digits. If N
is divisible by 9, then which of the
following statements is/are correct ?

‘I((A + B) is divisible by 9
I‘I./If A is odd, then B is odd

Select the answer using the code given
below :

(@) Ionly

(b) I only

()Both Tand T |

(d) Neither I nor II

1 730
and y3 +—_=—,
y3 27

then which one of the following is a
value of xy ? A

(@) 3
(b) 6
© 8
@ 9
2z %
If 11x + 5y is a prime number where

X, y are natural numbers then what is
the minimum value of x+»)?

1 .65
3

=
If x 33

(aj 3
it t.1%
2 2

@ 6 22 B

be a 10-digit

17

51.

What is the HCF of 2%¢-1 and 24517

(a) 1023

(b) 512
(c) 511

@) 255

52.

The section of 2 solid right circular
cone by a plane containing vertex and
perpendicular to base is an equilateral
triangle of side 14 cm. What is the

volume of the cone ? (?I - %.Z)

(a). 1078+/3 cubic cm

1078

. (b) ~—— - cubic cm

53.

87797 square cm

2. K92 K2

\3

(c) 539+/3 cubic cm

5 )
d o4 cubic cm

\3

Three identical cones each with base
radius 3 cm are placed on their bases-
so that each is touching the other two.
There will be one and only circle that
would pass through each of the vertices
of the cones. What is the area of the
circle ?

(@ 3n square cm

(b) 67 square cm y A
(d) 127 square cm
B- RAKU.’QMT
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=Scm 3R BC =
120‘“%»@1%@%@1@% :

'55*"Waﬁ3;@@aqa§gqa; ot
S AT ST e 3 G
¥ L ¥ e % sk
ST WY TR 2
(a) 110‘5
(b) 120°

(c) 130°

(d) 140°

56. @@ 199 & m?2—n?2 % ®9 A for@

S gFAT ®, &l m, n TYY TqEAd ¥
(m>n) |

mn R AE 941 B 7
(a) 9900
(b) 9800

(©) 9701

@) sftdaa: fuita =€t fear s

TRl

RAKU-T-EMT - B

18

57.

S8.

2" _1 %,;®9 (form) & 3R 2000 &
B, THat st e € ?

@ 3
() 4
© 5
@ 6

160 BT H TH w1 H, WAF O
3, el SR F A A A A

I A R R | qe W S @

590

& 130 3= seh, 120 v A AR
110 B H&Fd & 99T FRQ € | af
B AT A AT TH AT 1 =0 S S
Tl dE WS W o e € @
TR ot TR ¥ S w5t A s ey
g . |

@) 40
(b) 60
©) 80
(d) 100

HH Fﬂ‘ﬁW_ §S =5 4+754 11€ 41349 %"

&l a, b, ¢ 3R d Tf d@md € | s
s= 10 TR Tl frar s 2

S & fora Awwet B e = ety 2
(a) 1

() 4

(c) S

(@) 5% 3fere



\‘5'?7
/
\@L/O'
(

2_605

55.

54. A circle is inscribed in.a triangle ABC
right-angled at B. If 4B = 5c¢m and

BC = 12 cm, then what is the radius of

the circle ?

(@ 1cm A

(B)/ 1-5 cm o 15

(62 cm Z |2 7

) é-s cm | AR
y <

The ratio of sum of interior angles to

sum of exterior angles of a regular

polygon of n sides is % What is the

measure of an interior angle of

polygon ?
(a 110° ]
Sy =1
120° '
(c) 130°
(d) 140°

/ -
W The number 199 .can be written as
2
i

— n?, where m, n are natural numbers
(m > n). What is the value of mn ?

(2) 9900 1000%
(b) 9800
) 9701

(d) Cannot be uniquely determined

57.

58.

How many numbers of thff form 2" —1
and less than 2000 are prime ? .

@ 3
() 4
© 5

(d 6

In a class of 160 students, each of them
opt at least one language from among
English, Hindi and Sanskrit. It is found
that 130 students opt English, 120
students Hindi and 110 Sanskrit. If the
students opt either only one language
or all three languages, then what is the

- number of students who study all three

languages ?
(a) 40

(b) 60

©) 80

(d) 100

Let =50+ 74+ 1194139 where &y 3

19

¢ and d are natural n
umbers. What ;
the number of distinct o

§ when it is divided by lieén?ainders %
(@ 1

®) 4 g

© 5

(d) More than 5

B~
RAKU-T_EMT



48. A ifog N=123456784p T
Io-ﬁuéw%,ﬂ'efff,mim%mﬁ
® R
I (A+B)9ﬁﬁwm§
H.ﬂﬁAﬁm%,?hBﬁw%

aﬁapﬁhz:Hzgﬁzzﬁrxnﬁﬂ'HR:G?R:?ﬁ%Q:
(@) e |

®) S o1
(©) 13K I1em;
(d) :f?‘h'l,?]’ﬁn

1 65
49.?& x3+:;§-=—8— 3?[{ y3+__1___730

y3""2'.'7",
& FrAfiRea % 3 Brear 1y @
27

@ 3
(b) 6
(c) 8
@ 9

50. afe 11x+5y Th 9T m,an (prime
number) & &l x, y g9l EEAT (natural
number) £ al (x +y) &1 AAH AE HI1
B2
(@ 3
(b) 4
(© 5
(d 6

RAKU-T-EMT - B

S1.

S2.

53,

?
2%_] gk 245-1 @ HCF ¥ & ?

(@ 1023
(b) 512
(¢) 511

(d) 255

W?ﬁﬁéaafﬁaa@wqagaﬁ
e, fest vg w1 WY siafie
? AR W smR ¥ wEEa 2, 14 em

T 41T Uk wwag Bt @ | i
ST 01 8 7 (s whforg 7z = 22)

(@) 1078y3 &7 ¢m

1078
b —= U1 cm
NE

() 53943 == cm

(d) 2}—2— 99 cm

m3cmmﬁmaﬁﬁqm
Qi@m-aﬁwmmm@w
S ougett % Qﬂﬁﬁimﬁ-@m

(@) 3zt cm
(®) 67t cm
) 9nat em

(d) 1273 cm



In a right triangle ABC, 24 = 90°

and AD is perpendicular to BC. If
ACAI? = 60° and BC = 6 cm, then
what is 4B equal to ?

(@) 3 cm
() 4 cm

() 5cm

(d) 6 cm

61. Three amounts x, y, z are such that y
is the compound interest on x; and z is
the compound interest on y. The rate of
interest per annum and the time period

in years are same. Which one of the
following is correct ?
1600]) | 1‘%:}
@ £ =y ®
_ op) L
o 1000 R == 10 4

%Y
w R© 2= @
, ~ |O d x=yz / 00
;Z 166 [: /1 1Y
b
62. There are n conéc ric squares. The
area of the innermost square is 1 unit
and the distance between corres-

ponding comers of any two consccu-
tive squares is 1 unit. Consider the

following statements :

1. The diagonal of the nth square is
m+2-2

II. The area included between nt.h
square and (n—-1th square 1S
independent of 7

21

63.

Which of the statements given above
is/are correct ?

(a) Ionly
(b) II only
(c) BothIand II

(d) Neither I nor II

In a rectangle ABCD, AC is one of
the diagonals. If AC+AB=3A4D and
AC—-AD =4 units, then what is the
area of the triangle ?

a8

K-

(a) 24 square unit

(b) 36 square unit

(c) 48 square unit

>
A R

(d) 72 square unit

- The area of the circle circumscribing

three identical circles touching each
2

n(2+\/§)

. 5 square cm. What

1s the radius of one of

other is

circles ? the smaller

(@ 0-5cm AC ',_Cbtgﬂt

®1em-  TC- 2p) _—

(©) 1-5 em A-C'-H_& c‘f
9+A)y <

@ V3 om LA




60. T% wranvit P 4BCH, 24 = 90°
¥R AD, BCR 1 ¥ 1 7R £CAD = 60°
%ht BC=6cm®, & 4B frad R

?
@ 3 em
(®) 4 cm
(© 5cm

(d) 6 cm

61. T Tt X,y, 2 T8 Wk ¥ 1% y, x

R g = R AR 2,y ®
=S R | s = e ok ot
T -3afy ww e € Pl ®

FA-T1 EWE R ?
(@) x*=yz
®) ¥ =2z
©) Z2=xy
d) x=yz
62. n TEw® TR T T | I T @
Skt 1 gt & 3R foeet ot Qs

il ¥ G DA % B Q1
2 | Prafafae wal ® fier Hift ;

L n¥ wt @ Rk 20+ 2-2 %
L A% 7 AR (n-1)F @t F AN

Rl daea n A @IA B
| RAKU-T-EMT - B

20

S FA H A BA-E /AR T
R/e?

(a) &Had 1
(b) e I
ORELS &
@ ARNLAR
63. W& @A ABCD ¥, fawf # ¥ w
ot ACcR 13 AC+4B=34D 3k
AC-AD =458, N 9T & Axwa
TR ?
(a) 24 =t s
®) 36 =t Fars
(©) 48 =t wwrd

@) 72 Tt s

64. T T A wef T T A ke gt
F oftre g w1 A “(hﬁy

3
T em Y| YR A A Y@ TR
;R ?

(@) 05 cm
(®) 1cm

© 15c¢cm

@ V3 em



70. & & fe7 #, 2.01 pm #R 4-01 pm &

71.

RAKU

9, uw W F e @ ogg, W6
6 g€ & wrg Rt a) gt 2 2 2
(a) 121
(b) 120
() 119

(d) S9 7 A 7

T& W 3R 9a® a1g o a7 1 3K 11
et M@ €| wwm 3k w w® fER
difvg 3R w@ fes = fufew
iy |

U : k 1 UG WA (integral
valuc)'é\'m%ﬁfﬂ%ﬁ—lqm
(expression)  4x?—Fkox+ 1
TS © 7
k<=2
SgA-1l : k> -4
qqgﬁmaﬁ‘{a:qﬁ%:ﬁa'uﬁ
frafufaa 3§ ¥ -1 w6 R ?
(2) ¥ H IR T T T W
oA R foa W we R, fog
a2t fan o W R
meaﬁﬁ%%ﬁa%ﬁ
(b)@mm.mﬂmf&mm
wadl R
(c)W?ﬁIWﬁmmmw
iy s T o wwa &, g
m%@@mmm
% @ fean s WA
(d) W T FeR S FEA B T W
mﬂmﬁqﬁﬁmﬁTw
?

“T-EMT - 8

-1

24

72, TF W SR TEH IR A F 1K |

fog g €1 ¥ IR F R fEr
fifte ¥k @ = _ iy
$ifg |

g : A, B 3R C waa e
A 8 =d e =) aR
T2

a1 : A AR B TS - W 24
ft ¥ g W TR

F9-01 : B IR CuFE™E I H 36

f& T W T §

SHE WA ok Wl ¥ wEw
frafifes § 3 F-T w@ 2 ?

(a) ¥F F TW A T 1 &
ST W fear o " @, 6
¥E R FE W ST WS
T fer s wer @

() WH H IR oA H A Jaw f
T& 9T & SYANT Fd far
qEaT 8

(c) W H W QAT Tl H TE T
ST W= fan w2, 9
& el ww W AN
& T foar wn ww R

(d) W & IW AT wgAl ;@
ST ws A A fer w1
2



i 65. glc —-32 tnangle ABC, AB=21cm, (@ 125
;_ 0cm and §‘A = 13 cm. A per-
_ pen 1cu1a.r CD is drawn upon the (b) 15
? longest side. What is the area of the
tniangle BCD ? PN () 2
a) 96
(b) 84 square cm |
(c) 80 square cm rZ 20 -C, 68. 1f x3 + px? + gx + r is an integer for all
4 ' . integral values of x, then consider the
(d) 72 square cm following statements : A
| e TV
66. There are two containers 4 and B. In I. p must be an integer
container 4, the ratio of milk and water
is 1 : 3 and in container B, the ratio of 1. ¢ must be an integer
milk and water is m : n. If the mixture
in the containers A and B are mixed III. » must be an integer
in the ratio 2:3 to get 20 litres of a
mixture having milk and water in the Which of the statements given above
ratio 3:7, then what is the value of is/are correct ?
g
o’ (a) Iand II only
1 (b) III only
(2) 2
{1, Il and 111
2
(b) 3 (d) None of the statements is correct
© 3 XYZ is a 3-digit number, where X, ¥, Z
4 are distinct non-zero digits. The dif-
4 flem;,ce between the two 3-digit
@ 3 umbers XYZ and YXZ is 90. How
?;{ally }g?)ssnble values exist for the sum
67. A cone, a hemisphere and a cylinder
stand on equal base of radius ” am} @ 9 1z
have the same height. If the sum © v,
volumes of cone, the hemisphere afnd (b) 8
the cylinder is equal t0 volume 0 33 \ )
o B () 7 |
sphere of radius R, then what 1 72 \ 07
\ @ 6 DR
equal to ? - > b & '2',’/6
/ 2 o T4l A X
Lo, + 2Tx 23 B-Rp o >~
& 3 ; KU-T_EMT
B 27 5




65.%% fyw 4pc # AB=21cm, () 125

BC=20cm 3k CA=13cm? | Sefem ®) 15
&M R GF & Cp dien mar € | B
BCD & ot w1 2 7 : @2
@ 96 =f cm (4 22
B} 349 cm 68. R x % &M ik = (integral
(¢) 80 ¥ em values) & T 23 +p+gx+r s
@ 72 9 em qgﬁﬁ?,a‘fﬁw%%amﬁqtﬁw
66. Q1 fest 43k BE | o=y 4, g 3k I p o &
) L &
TR A 1:3 @ ok B p A, ! wEEm
@mqﬁmaﬁqﬁm:n%l‘qﬁ 1L g FEE W TS s B
fe=3 43R B fipmr & 2: 3% s
.
-3 e e g AR g Rk T 7 ST Y g 0
3:7 % 3guE H 20 e F fpor v S A R BA-H/ AR T
a,ﬁr%m#ﬁw%? Ak
; (a) Shad I 3R 11
@3 () I 11
(®) % (c) I, 3K III
. () N T R T R
© 7
% 69. XYZ T 3-3a Fed ], el X, 1, Z
@ 4 firm R o T | 3 FA
5 XYZ 3% YXZ % 9= & FR 90 %!

gwred A
67.TF 5, UF ddMar IR TH e, il Rl S

r Bom ary g R w @R € ek LR
w0 Ied o w1 R i, (@ 9
mﬁﬁﬂﬂ%m?ﬂm, (b) 8
R P art o i % smae % s
%ﬁ'R’ (c) 7
5 P a4 7
RAKU-T By - 16} ¢

I .
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73. TF 7 3R vk g @ w97 1 3K I
ﬁﬂ"’!‘gl.msﬁzmﬁmﬁm
T 3k @ frew @ Afa

: |1 B uE gdfis ga B
T § S A9TT B ?

EAL

FGA-I : x2-26x+133=0

BIF-Il : x2 - 44x + 475 =0

Sk ¥E ¥R HEAl ¥ gay #
frafafea & & Fl-ar 6 ¢ 7

(a) 9 & IR Had TF T F
ST &% fear s aewar g, fig
FIA QAR AT F. I Fh
el fa s gear 2

(b) T & IW FT A ¥ Faa faeft
TF F49 H WM W& fear

g 2

(c) W & IW Al H441 &1 & qrg
guarT @< foar s wew 2, fig
¥aa 5t @& A W gwEm
T gt feam S ww @

(d) T F I AT FEA H G A
g @< Wt 7@ fear s e

e

RAKU-T-EMT - B

26

74,@%3?\?3@!%313%@13&]1
fq m ¥ w@ ¥R A R SR

fife 3k @@ fe F: fifea
HIfrg |

W @ 327" + 1737 500

" fawrsg 2
Fa9-1 : nfawm YqUT |G (natural
number) &
:n @& 49 Tﬁfﬁ (positive

Yq-11
) integer) &

. S9Yh UE IR @Al ¥ dEw 3§
frafafea 3 @ eh-wr a8 & 2

(@) U & W [T TF T H
Sqar F%% o s e , fig
FE R FAT F I AW
&l feam s e 2

(b) TF FH IW [T H A Faq
U& 91 H I9ANT o fear =
THaT

(c) T I W I w3l 1 U |
mmﬁmmmé,%
o 5l @ T o I9qT
&E TR far s W 2

(d ¥ & IR fh M T =
;@’T%’Iﬁ"ﬂ’ﬁﬁmmm




37. 9

35. 4321012345 x 98766789 % T H
siftmr i o T & ?

(@ 1,0,5
®) 2,05
© 21,5

@ 3,0,5

36.p,(x2+y2+z2)%a§$m§<rrcﬁ% | 516
x‘=1,y=2,z=3,??fp=70%lﬁla
x=-1, y=1 z=5Eﬁp‘§Mﬁ"ﬂT% 7

(@) 100

) 125
() 135

(d) 140 .

SR N, 11 o1 A Fee
o % Ff 6, 12 15,13@;%1&1;
a@qws@%lﬁﬁﬁ‘m

T A A

‘.

) ﬁoo < N < 1300

3R, 1 1

m+ 311+310+

\
B rw o R

SRR R 7
R&K“‘T‘EMT .

1

¥ 3196+3195

(@) 17
(b) 14
(c) 11

@ 10

39,3 X weww # @ @fth 24 ¥
F R &R A & AR Y e AW
=R A 18 e A TR & A ¢ 1 9
St far # TR T ER A
20%%3%««%&%1,?&%
(speed) y & e ¥ T AW ¢ ?

(a) 1:2
(b) 2:3



70.

71.

How many times does the minute hand
of a clock coincide with the second
hand between 2-01 pm and 4-01 pm on
the same day ?

(a) 121
() 120 2

‘@"119

(d) None of the above

A question is given followed by two
statements I and II. Consider the
Question and the Statements and mark
the correct option.

Question : What is the integral
! value of & for which the
expression 4x%—kx + 1

is positive ?

Statement-]1 : k <-2

Statement-1I : k> -4

Which one of the following is correct
in respect of the above Question and
the Statements ?

(2) The Question can be answered by
using one of the Statements alone,
but cannot be answercd using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

9/’1110 Question can be answered by
using both the Statements together,
but cannot be answered using either

Statement alone

(d) The Question cannot be¢ answered
even by using both the Statements

together

4 15 =24 ],
0 L rC = 36

4y - kt]
i =

25

72. A question is given followed by two

statements 1 and IL Consider the
Question and the Statements and mark

the correct option.

- In how many days can
A, B and C together
finish the work ?

9 9
A and B together can
finish the work in 24
days

Question

Statement-I :

B and C together can
finish the work in 36

days

Statement-II :

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(ci)/The Question can be answered by
using both the Statements together,
but cannot be answered using either
Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

B - RAKU-T-EMT

ﬂ—zzgtl



|

pestion 18 given followed by two
ments | and II. Consider the
. and the Statements and mark

15_ Ad
stat€

. If the price of petrol
goes up by 20%, by
what percentage should
the consumption  be
reduced SO that the
expenditure remains
the same ? '

Price of petrol per litre

Statemcnt-l :
was Rs. 90

Consumption Was 24

Statemcnt-II : was
litre before pnce hike

Which one of the following is correct
in respect of the above Question and

the Statements ?

(2) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(b) The Question can be answered
by using either Statement alone

(%hc Question can be answered
; :gc:;lsmg both the Statements
g er, but cannot be answered

Ing cither Statement alone

(d)

The .
Question can be answered

tven with
ou i
tatements t using any of the

29

76. A question is given followed by
two statements 1 and 1L Consider the
Question and the Statcments and mark

the correct option.

Question :

Statement-I

Statement-1I :

The ratio of P’s salary

to Qs salary is 6:5.

How much is P’s

cxpenditure ? c +
-

. The ratio of P’s saving
to Q’s saving is 3 v2

The ratio of P’s
expenditure 10 Q’s
expenditure is 1: 1

Which one of the following is correct

in respect of th

¢ above Question and

the Statements ?

(2)

(©

(d)

The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

The Question can be answered
by using either Statement alone

The Question can be answered
by using both the Statements
together, but cannot be answered
using either Statement alone

¢ Question cannot be answered
even by using both the Statements

together
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75. T a9 3k Ig% ae o 4T 1 3K 11
T m ¥ | wea sk =l | =R
G ok w e @ i
Siforg |

A gl e & Fdt 7 20%

as 6 gig Bkt ®, A uwa A
fram wfdya &t ekt &t

STt =T arfes =g d|r &
TR ?
7] : W H Fa 90 T Wiy
e 4t
m-n:'m"’maﬁg%'%qz%m
24 Htex 4t
St W AR FAl % "Ew
frafafea & ¥ SF-a1 w8 2 7

(@) ¥ F SW Fad TF Fq9 H
@ @ fean s wwar @, feg
AT TR FAT F I aWH

&t fear s wemn

(b) F & IR QA1 F ¥ Faewr et
TE a9 H ST aRea fear o
qEFAT B

(c) W& T IR A FA H T A
Swan 9w fear s wwa €, fog
¥ fedt @ FET @ IwEm
2% g far i wwar R

@ @ F TR et @t T @
Tyam frg famn ot fear s oa@an
2

76. T I AR IAR ARG A F 1 K 11

fu m €1 WA ¥R FH ® g
fifg 3k @@ fww RN fifg
&g |

IE PHF I H QF A
J[E 6:52 | P& =g

feram & 2

F49-1 : PR w9d W QF T
JI9a 3:22

FEA c PE @ W Q F w7 R
FHIT 1:1%

Sw UE AR wEEl & dew ¥

frafafea & ¥ S-ar wd 2 2

(@ ¥ W IR Fad T FqA H
S &S o s wwar 2, fig
I R T F SWN S
Tl foan s wewar @

(b) W H IR [ F A I feh
TS 99 6 SN oS oA o
qHaT

() W H IR QFT HAl F T
ST wF for o v @, fig
¥ fFll ™ waq @ gwEm
Rk T foar s e

(@) ¥ W IR A FE T w qw
;‘ﬁmﬂﬂ%tﬁ%"fﬁmwm
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73

A question is given followed by two
statements I and II. Consider the
Question and the Statements and mark

the correct option.

- Can we have a com-
mon solution which is
primc?

Qucstion

statement-I 2 -26x+133=0

Statement-T1 : x* — 44x + 475 =0

Which one of the following is correct
in respect of the above Question and

the Statements ?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(©) Th-e Question can be answered by
using either Statement alone

© The Question can be answered by

,};Slng both the Statements together,

c!gl cannot ‘be answered using
ither Statement alone

@ Tn
¢ Question cannot be answered

e\’en b i
lOge{h;_ using both the Statements

g

27

74. A question is given followed by tw
0

statements I and 1I. Consi

. . Conside
Question and the Statements andrmtzzi
the correct option.

- I1s 327" + 173" divisible
by 500 ?

Question

- n is odd natural num-
ber

Statement-1

Statement-II : 7 is a positive integer

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered by

~ using one of the Statements alone,

but cannot be answered using the
other Statement alone

(b)_ The Question can be answered by
7 using either Statement alone

(% The Question can be answered by
- using both the Statements together,
but cannot be answered using

either Statement alone

(d) The Question can be answered
even without using any of the

Statements
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—

A qucstion is given followed by two
11 statemcms I and II. Consider the
jon and the Statements and mark

uest .
the correct option.

The largest of five

Questiot different integers is 8
and least is 2. What is
the average of these

o % integers ?

The sum of all the
5 integers is a multiple

of 5

statemcnt-I :

The number of odd

statement-II : ;
integers is odd

Which one of the following is correct
in respect of the above Question and

the Statements ?

The Question can be answered

(a
)/by using one of the Statements
alone, but cannot be answered

using the other statement alone

(b) The Question can be answered
by using either Statement alone

The Question can be answered
:;.V using both the Statements

_ugdhef-, but cannot be answered
SIng either Statement alone

@ .
:\]:;?)uesno" cannot be answered

Y using b
(Ogether g both the Statements

-
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78. A question is given followed by two
statements I and II. Consider the
Question and the Statements and mark

the correct option.

There arc threc dif-
ferent weights. All the
weights are integers
and their sum is a
prime¢ number. What
are the weights ?

Question :

- One of the weights is
twice the  another

weight

Statement-I

One of the weights is
thrice the another

weight -

Statement-II :

Which one of the following is correct
in respect of the above Question and

the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(b) The Question can be answered
by using either Statement alone

(¢) The Question can be answered
by using both the Statements

together, but cannot be answered
using cither Statement alone

(d)-The Question cannot be answered
even by using both the Statements

together
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P
consider the following for the next three 83. Consider the following statements :
3 jtems that follow : :
; : I. The line segment AP divides the
Let ABC be 2 triangle right-angled at B. area of the triangle ABC into two
(Pbe the point on BC such that BP = PC. equal parts
1“&3; 0 m, £BAP=45° and ZCAP=0
tano +tanf II. The perimeter of the triangle APC
L e o .
] use :an(a"Fﬁ) |_tanatan B is more than 46 cm
0. The area of the triangle APC is

50 square cm

an@ equal to ?

+ .
g1. What 15 t
Which of the statements given above

1 are correct ?
@ 3
(a) IandII only
1 (b) II and III only
®) 3 2\ 'J7 \ o
e - ¢) Iand III onl
©; < ] ¢ (@ I Mand I
0 5 onsider the following for the next two (02)
@ 1 i n R o R 2* g’l(t:ems that follow :
- 4 crEES N
A frequency distribution 1s as follows :

27-35 [36-44 |45-53 [54-62 [63-71 72-80

! 8. If ZACP =7, then what is tany equal Marks [18-26
: lo? Number _
of 5 7 10 | 15 8 3 2
. 1 students ‘ o
' W G /2(132 27 yC 4z SO
84. What is the ian of the distribu-
tion ? _
b 1
3187” é"éo (a) 449 2+ %,c %
o (b) 455 Y
© % zé/ ”gz "60 b
(c) 459 2.5;"’2"3

gt T

@ 1 93’%&/@”"/0 jg (97463 | ©
Z20-8-)0 /35 | B — RAKU-T-EMT
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S sy Ay dm (03) wemi & R
frafafe w frer Hifg:

ar @fre 4BC T P @ 91 B
e 2 | A g BC W P FRE
var 2 f5 pp=pC| AR AB=10cm
/BAP =45° 3R LCAP=0

[!M(a+ﬂ)=%m S ﬁfﬂmj

81. tan0 Teradh TR g7
1
@ 3
1
b) 3

(©)

|

1
@ 3

82.afd LACP=
27

N | =

(a
® 3

(c) %

d 1

RAKU-T-
EMT - B 34
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I.%@TésAPﬁ'gﬂABc%m
ﬁammﬁﬁﬁwﬁam

2

p1. s 4PC & d9RAT 46cm ¥
st 2 |

m.ﬁgWAPcmWsoaﬁcm
2|

g & - T A R

(a) Faa 1 AR

(b)aﬁanaﬁnn

() Faer 1 IR 1

(@ I, 13RI

aﬁrarﬁaﬁér(oz)umﬁa:ﬁq
ﬁmﬁr%amﬁaﬂﬁﬁqz

aﬁmwézﬂzam%:

aw  [18-26 [27-35|36-44 45-53

54-62 [63-71 72-80

UﬁlﬁS'}'lOlSSB?
o

g4, iz % WIERH F & ?
(2) 449
(b) 455
(c) 459

) 463



7. A

question 1s given followed by two
statements I and II. Consider the
yestion and the Statements and mark

80. A question is given followed by two

statcments I and II. Consider the
Question and the Statements and mark

the correct option.

the correct option.

Is p*+pg+q® odd
where p, g are inte-
gers ?

yestion : What is the amount at uestion s
Q the end of 10 years ? Q

The principal amount

Statement-I : .
; is ¥1,00,000 Statement-I : p+gq is even

g 1 0
Rate of interest is 10% Staterient-Il : pg isodd

Statement-1I :
per annum

Which one of the following is correct
in respect of the above Question and

Which one of the following is correct
the Statements ?

in respect of the above Question and

the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(2) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the. other Statement alone

(b) The Question can be answered

®) The Question can be answered
by using either Statement alone

by using either Statement alone

%Thc Question can be answered
by using both the Statements

together, but cannot be answered
using either Statement alone

(

J:he Question can be answered
toyg etll;smg both the Statements
- but cannot be answered

Ng either Statement alone '

c - -

eVenQbchn’on cannot be answered (d) The Question cannot be answered

togeyy Y using both the Statements even by using both the Statements
Cr together

()
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91. feft & it g wFEET 10,000 ©
forert qeat sk wfiemit 1 gen www
2 | T wEe § ¥ 30% WAER 9A
T ATt § | T GATR 97 g AT A
A @& frer st @HER 97 9 ¥ |
o 3 FAER O g T A @
20% #feemd €| T gE§ A wEA
et 2 W) st WK 9T TR 96d

g7

(a) 800
®) 2100
(c) 4200

(@ saard spierst 3 o et Tt
o w1 GeRdl

gi_ﬁ%ﬁmmaﬁm{qm,aﬁcm
% < & forgan 9T 400 cm ® ?

(a) 100
(b) 200
() 1000
(d 10,000

93, af 3'°=h7%ﬁwﬁmﬁ*“7wg?h
qH FAT B ?

(@ 0
(b) 1
() 2
) 4
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94, 64% 1 T T L 7
(a) 0-08%
(b) 08%
(c) 8%

@) 80%

95, 103]_5 3ﬂ'{ 1030+p Gl 3&3{ 3 f?
forsa 2, el p TF 9 & 1 p S
A gwIfed © ?

(a) 4

() 3

(c) 2

@ 1
96"%1?{%%’6@“%“%:

[ 61 frsmfra &t 107190 - 76'%
&1

1. 100 fnfr o 75+ 35

g ¥ & /AR T
?/%?

(a) Fe ]
(b) ¥ 11
(© 13RIz
@ AALTARI



g5, What is the mode of the distribution ?
) 47-25
®) 47-75
48-25
(@) 4875
llowing for the next two (02)

Consider the fo
items that follow:

is a triangle right-angled at B. Given
that AC-AB=2 cm and BC=16'cm

86. If ZBAC= ¢ then what is sin@ + cos@

equal to ?
(@ 1

71
®) o

B

o 2
65
&

79
%

81. If BD is the perpendicular on the side
AC, then what is the length of BD ?

37

s

Consider the following for the next three (03)
items that follow :

Let MN be a chord of length 16 cm of a
circle with centre at O and radius 10 cm.
The tangents at M and N intersect at a
point P. Further, OP intersects MN perpendi-
cularly at Q.

88. What is OQ equal to ?
() 5cm
Sb;/ 6 cm
(¢c) 7cm

(d) 8 cm

89. What is PM equal to ?

O
°2

= bGY
(a) 10 cm & ;;C{'f‘f )

: l
() 12 cm /?/ﬂ,@q' _G/?/lH,

40
c) — cm
© 5

50
d) — cm
@ 5

90. What is the arca of triangle OMN ?

(a) 36 square cm
(b) 40 square cm

(c) 45 square cm



85. =it 1 eI (mode) 71 & 7
(a) 4725

(b) 4775
(c) 4825
(d) 4875

o ey A e ¥
frafifi e e AT

C-AB=2cm 3k BC=16 cm
6+ cost forah

ABCT&
-qzn%ﬁ/!

s6.aft £8AC=0 T sin
a8 7
@ !

71
® &

73
© &5
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o g A @A (03) I ¥ fig
freafefir ¢ e A
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g7. The average of the temperatures

recorded at noontime from Monday to
Sunday is 31°C. If the lowest tempera-
ture recorded is 30°C, then what is the
maximum of temperature that is

ossible to record at noontime on any

99. Consider the following statements in
respect of
p=nn+1)n+2)n+3)+1,
where n is a natural number :

(D W

I. p is always odd

one of the days
2V 26
(a) 34°C II. p is a perfect square qu}*
62(2
35°C ’g %) g“[ Which of the statements given above
®) is/are correct ? l
|
(c) 36°C @ @) Ionly | _ ;
(@ 37°C () 1 only

q?O

(23

and x +z # 2y, then what is xyz equal
to ? =

(@ -3 |"}"I -E_}_.
>

(b) -1

(c)~Both I and II

(d) Neither I nor II

100. What is the difference between the
average of first 50 even natural Q
numbers and the average of first 50
odd natural numbers ?

;_J @ 0 _
2 -

(b) 05 \
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~ e e

97."{&:]3]( ‘il% .

aqﬁ %Tai'!ﬁﬂ'a’ P s -g?q g 99.p=n(n+l)(n'+2)(n+3g

. A 31°C 2 | A % g nwE gAq G €
W%QWWW 3000% % :

?sqfﬁj: m%ﬁ; F IR H
&g forar s wepar 2 2 UE e I-Pﬂéﬂﬁﬂﬁ%
(@) 34°C 1. p & Tf 7 &
(b) 35°C ;ﬁ;ﬁ ¥ S /- T4 Gl
9 (a) e I
@ e (b) Fad II
98. % © 1% 13t

["*i}(y*l): @ FALAAD
yz zx

(y_,._l.)-(;m-—]—J 100. 9esl 50 & QY wemt (natural

zx Xy numbers) ¥ 3w ok = 5o
S x4 2 5 2y, S e TS TR R 2 E@%m%mwﬁg
@ - @ 0
®) -1 ®) 05
© 1 © 1
@ 3 @ 2
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The total

/ population of an arca is
—hn..‘\ v_/*

0,000 out of which males and females

94. What is the square root of 64% ?

OV~ arc cqual 1N number. Out of the total a0
([,]%7 population 30% are Necwspaper (a) 0:08%
f@/ readers. Out of the total newspaper . (o
,'\(y readers, one-third read English News- )b)/()'SA: /
B) aper. Out of the total English News- \Oo
Q aper readers, 20% are females. What (c) 8% & |
v ;s the number of males who do not read @
. 9 p
English Newspaper - L0 16600 (d) 80%
O
(&) 800 4 . i} .,
& 000 < D9g.OThe difference of 10°! —5and 10" +p
(b) 2100 . is divisible by 3 where p is a digit.
How many values of p are possible ?
@ 4200 7/%3
(@ 4
(d) Cannot be determined due O
insufficient data ®) 3 ,é_/%_/}/g
92, What is the maximum arca of a (c) 2 .}
E rectangle, in square cm, whose 7) ‘3 %
,Z—’Lr-s’ﬁ"*ai?fﬁmcter is 400 cm ? : s

A1 @ 100

|
Z/L l‘:{ é i) 300 96.
7,'] 2,9 (9 1000
?%12% 771000 2 (£
§q 0 g‘;h;{)is the remainder if we divide 310
| .
‘ Qu% 93 4 f
i@,-@#—‘}— ®) 1 L » 5
|10 OO
_cood L0 ;’)O
\15‘ 0(#.')::" I:’ogs'_b/?/

Consider the following statements :
. 61 divides 107100 _ 76100
I. 100 divides 67° + 33°

Which of the statements given above
is/are correct 7

(a) Ionly

(b) LI only
(c) Both I and II

(d) Neither I nor II
B — RAKU-T-EMT




ch that the su™

is su

) : 31. A real number x 1 : its square
TIVer, the angles of depression of two * of the number and four tlm?]il’llber ?
points P apd Q on the banks on is the least. What is that n .
Opposite side of the river are o and f3 ' : n
respectively. If the point X is at a (8] D680 A T Y
helght. h above the surface of the river, (b) —0-125 |

what is the width of the river if ¢ and | X

B are _complg:mentary ? (c) 0125

(@) 2h(tanc + éota:) - @1 .

_ | | - _ two

(b) H tana-tanf . The difference of the square of

natural numbers m and n (m > n) is 72.
How many pairs of natural ‘mnumbers

will satisfy ?

(@ 3

29)In a triangle ABC, ZABC = 60° and ) 4 Y
~ AD is the altitude. If 4B = 6 cm and

; - © 5 G ©
BC = 8 cm, then what is the area of -
the triangle ? . | @d) 6 ; B

12 squ écm £y ' P 6 ;
(@) squar o st -33. Let N be a 5-digit number. When N is

divided by 6, 12, 15, 24 it leaves
_respectively 2, 8, 11, 20 as remainders. |
What is the greatest value of N ? : '

|
(©) hcota-cotfp |

_ (d h seco-coseca

| (b) 12+/3 square cm G

(c) 24 square cm | . G ’
A @ 99960 -‘%‘-Q%fr 16660
~.(d) 2443 square cm- < 2)( PRI ))’99956 _ "_I _,@ JSEa |
30. If p and q are the roots of the equation (©) 99950 ' Q—QﬁjL )66< -7.

2 £ — sin®0x - cos20 = 0, then what is . _ 2, - B |

the minimum value of p+¢%? _ (d) 99946 gg .Q_qq_g’;g_ | "J

e minim P < _
1 - A 34. What is the remainder when /
@ 2 Lol e 111222 1922333 | 334444

"

" | is divided by 5 9 |
o 2 L%., l>. @ 1 @GG'E fﬁg :

, 3 - 0O () 2
o3 4 R
(@) 2 o @ 4

11

B




28, 7% 7 % W W w Ry XY, W

frda fFm w Q1 figdll Pk 0%

s 0 o IR 1 R
fig X 7@ 1 Adg ¥ hIE W R, @
) .
(@) 2h(tana + cota) |
1 (b) Htana-tanf 1
(c) I_zcata-lbot){.? A
(d) hseca-coseca
29, Brast ABC H, £ABC = 60° R AD

T | afe AB=6 cm 3R BC=38 cm,
&t et o S R T

(@) 12 square cm .
(b) 12\[5 square cm
(c) 24 square cm '
(d) 2443 square om

30.'11&;93?\'( GW 5
xz-—sinzﬂx-00329=0% < %

3 o g AR L

10

31@3@%'&@3‘:@%%'&@1@(
za o & WR A H A G ¢ |
Tg N R 7 |

. (a) —0-625
(b) —0-125
(c) 0-125

@ 1

32.Q mqgimém m 3R n.(m'ﬁn)%ﬁil‘f
H IR 2% | g e & ford
W A FA T .

sE N6 12,15 24 q
et e & A T 28, 11, 20
@ 2N gead T 2
(a) 99960
(b) 99956
(c) 99950

(d) 99946

4



21. What i th
& :
3sing — 4sinlrg?;mmum value of

. 25. What is the value of ,
® 3 sin0 cos?@ (sec?0 + cosec26)
(P)/4 ' &= - equal to ? |
(& 8 o 2 (@ 0 | D C |
d) 12 ‘ |
. 21y J_>( 2. +2)
22. What is (© 2 2~ 2
(1 + tang tangy? 4 B 5 |
equal to 9 PF)" + (tana tanf) @ 4

. : 5 *@é
(@) tan’q tan2p o Py FLM z;ta’”"'( %

®) sec’a sec?p i B 26. If 64579 4 64050 = 15 | . |

©) tan’er cot?p | |

where 0 < 9 =< 12:-’
(d) sec’a tan2p - then what is the value of tanf + cot ?
23. Consid_er the follbwing statements ; ' (@ 1 |

e Tan50° — cot50° is positive / U m 5

Il cot25° — tan25° is negative. .
Which of the statements’ is/are (c) >
correct ? ¥ e (de 4
(a) Ionly - ~ .
(b) I only “ e

_ 27. 1 |
(QrBothIand Il ~©08¢C—coth = m and secq

th : —tanf=p,
(d Néither InorlIl ! en Whalt 1S cosecH + secq equal to 9
1 1 1
24. If 0 < (a—PB) < (a+p) 5.--2—, | 2\ e
. ! e
tan(a+ﬁ)=\/§andta1:‘1(q—§.).—-7§, YR
then what is tana-cot2f3 equal to? | (;b n _n;.,_;
(@ 1 N .
" ! LA 1
b) 2 - © E[’”*"““-l)
. e
© 3 e ms,
-L | B (d) ("Il+n...__];___1
w i ' m n
B . i
B



14. 200 SET 6 TH T H, o DA 99 AR 17.a4+2a3+_3a2+2a+13ﬂ(a6-2a3'+1

S T R TS K 20 W HE & HCF #11 % ?
TEg A §, 3n OF IW UEG A ¢ W
4 B T A T@, T & FH TEE WA (a.).__'?s‘_f?“z”“ﬂ
ElnFARTR ? b) d+at+a+l
(@) 20 (@ @+a+1y
(b) 25 @ @—a+ 1P
© 30 s = T |
@ 35 ‘ 18, 7R whER 2 (k-2)x + (k+1)=0
, | ¥ vt R &, A kB A HE ?
15. w g 4BC & e & e @ 0,4 |
S=%e 36 & cm & | 9k 4B=9cm, ’ |
BC=12cm ¥R ZABC=6, A cosb () 0,38
fores SRR ® 7 R ©) 4,4
, @) 2,6
@ if— , .
¢ 215... X .(cosﬂ—si.n9+l) (cot6— cosech)
® — ! cosf+sinf-1
? ' | e R R ?
1 :
© 3 | @ -1
() 0
) 1 .
d 2

|:.‘I"U L ' 3 i
20{ sinf@ 231? ?,\& 5 % 2

2¢0s°0 —cos

(a) sin?6 | _
(b) cos?0
(c) cotf

(d) tand
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14. In a clasS conf %
tain i
n students prefer b(:glg tezaogn ;tudents: 17. What is HCF Of2a + 1 and & 23+17
2n students prefer coffee, 3n s;%ffﬁfs’ i ol
frefer. tea; 4n students I;refer neither (@ &+3a° %2 e
ea . ' :
_ nor coffeg. What is the value of  ? | ) o+ 2+a+l
(@ 20 ’ 2 '
Qo @ @+at]) | - %
(b) 25 | . 5 2 ) LY \
@ @-a+ly oY - &
(© 30 ‘ u¥ oo .
If the roots of the equation
(@ 35 A2 (k—2)x + (k+1)=0 are equal,
: ' then what are the values of k ? 5
; @Let ABC be a triangle with area 36 @@ 0,4 - 2.6’( L E./——-""
square cm. If AB=9 cm, BC =12 cm 5 I '
and /ABC=0, then what is cos6 () 0,8 o -
equal to ? : X = |78 "”[
(c) 4,4 i
_ 0
@ 5 @ 2,6 A~ 1= |
3 - ] 9ok — 2L
R i 5 cosf@—sin@+1 : A -‘2_0(#_’
| 2 CAb) 4 ( = (cotf— cosech) "
Il cosf@+sinf-1 ik _
pxh= T Sl S L G
© = 4 ) :
3 (@ -1 - —
. (- D! (=~
-0 .
@ 3 (c)' ) ' ‘
A | , | B e A o
16. Let n be a natural number. The HCF (@ 2 o 2
of n, n+10 is 10. If the LCM is x S f]’._.\_O + )

(a 2-digit number), then how. many ey s .
values of x are possible? .. 20. What s MI Sy O )
_ 2008’0 —cogp Ul t0 ?

(@) sin2g

(a) Only one Jr i 9 .2
Only tw ' !
© 4 | A o (©) cotg
thr ,
e et @ tag =

B
-~ RAK . .
UTkmy,




- 2
21. 8sin6—-4sin?0 w1 A AW w 25, sin%6 cos20 (sec?0 + cosec™0)
®7 | - A e SRR ® ?

‘(@) 3 0
®) 4 | . (a)
© 8 | ® 1
@ 12 | ©) 2
22, (1+tanatan}3)2+(tana tanB)? - @4
SRR R ? |
(a) tanZg tanzﬂ - : 26. af 64sin29 + 64°°S_28 =16 5@l
\ 2 2 _ .
((2 ::;zz:zg | 0 ses%,ﬁr tan6 + cotd H AW
@ secza tanzﬁ uf | TR ?
23. Fraffea wot = fer At | (@ 1
L tanS0° - cotS0° &R 2 O 2
I cot25° — tan25°'ﬁ€“l‘|?ﬂ$% © 3.
TR -4 /AT TR T %/% O 3.
(2) % 1 S
(b) ¥ 1 27.3fy R
(©) IR I3t ~ cosec— cotf = m IR secO — tanf =n,
@ TRLTAL M cosecd+ secf i s 7
> ' 1 L1
24, 3l oﬁ(a_p)s(a+p)s%’- . (a) —2-(m+n+;+-;)
- tan(a+B)=+3 ¥ tan(a-p)=;, . X 11
RN tana-cot2f Teraen wER & 7 “ (b) (m+"+m+n)
@ 1

®) 2 © %(-m+n—-1__}.]
. m n

| (d) [iﬁ+n'—l—~1—)
' m n



R —— b
W\ "

W,
Wy N
@ Let k be. a positive integer. What 2:/ (c) 7 square unit
the quotient when .. o
x8KH3 o yBK+6 4 (Bkt9 4 k12 (@ 73 square unit
is divided by (1 +x3)(1 +x5) ? : - -
(@) x% X2+ 11, A 4-digit number N has ex&ctl);oml
ol T #6 distinct divisors. What is the
) 231y 1s 518 Of ?
: number of distinct divis
(c) =+ | | | : |0
(@) xS e | @ . =
x . . : .
Lot @ 30 27 @
8. A square is drawn inside a square of : ¥ :
‘side 14cm in such a way that the ' © 45 2 2/%{
_comers of the inner square coincide ' - 2,@9 IS -
with the mid points of the sides of the 225 r ~ A0
outer square. What is the area lying - }d) LW Wk S
between the two squares ? 9%
_ 12. If p, q and r are the lengths (in cm) of
@8 SuRme ' the sides of a right-angled triangle,
(b) 56 square cm _ then (p — ¢ — r)(q = F= PR == H)
' Y is always
(c) 49 square cm
d) 24-5squarecm . (a) Positive only _ ()
(d) 245 sq . y _‘-0>Cg lo—
9. The base of a right-angled triangle is (Megatwe only . %>
% times the height of triangle. If the Y1712 (c) Non~p031t1ve only (, -
area of the triangle is 54 square em, oo | B & ‘ QL
then what is the perimeter ofhthe (d) Non-negatnve only - 9%
30 - 13. Wh
(@) 30 om gk > What is the minimum vajye - of
() 32em ) | Eii’-il_g(i’fi_b‘;rp_
(936 em n 15 | b
\(l @ 40 cm .{i a Wherea>0,b>0? C\Q} ( %)
s P @« @1
f_(> 10. What is the area of 2 triangle having _ B
sides 4, 4 gnd 6 units ? | (b) 4 1) ¥ }Uf w ,’_D
IpLpl @ 3.7 square unit _ (9,"_9 ; R
'r (b) 8 square unit 5 . @ 16
1wy L A
2 S
R : ;
K = . ' ; _ B _ RA
neq | KU"T"EMT



7. T ST &k T € | - © 7% ghe

xsk+3 +x8k+6 +x8k+9+ x8k+12‘a?r

1+ +x8) ¥ T = ® - @ 73 F e

TR FAT BRI ? |

@) | 11.TF 430 en N % 3% 15 fim

® & : e € 1N F B e @

© x8k+2 H@TW%?

(d) . xBk*3 : (@) 16
8.14cmaﬂTaT§(aﬁ%ﬁ'a’{'q§aﬁ% ®) 30

voR dfe R s R e (o) 45

F BN, 9T o f GEET S weEd

firgelt & "ot €1 | T F A @ 225

foremma &= w1 &A% TR ? '
: 12. 9% p,"qGﬂ'( rmﬁmﬂﬁ'ﬁﬁﬁ |

) EEiE it 1 7ot (cm ) &

(b) 56 cm - | (p-g-Pg-r-p)r-p-q) T
(c) 49 = cm ’ = S R :
- (d) 245 cm

! © (b) ¥ IS ©

9. e T S w1 R B A -

S 4 TR | AR Pt S (© ¥ ERE

® 7 .

(@) 30 cm

; 8 4 8 4
() 32em S

(€) 36 cm | b o CF R, Rl a>0,6>07
e 0 | . .(a) 1 |
(2)3&1@‘2 . .. () 9

(d 16



1.

i lojmm A 16 Swm
@ 5 m/min (2
q
() 10 cm/sec .}
@, 5. cm/secC a
x pall of radius r 18
‘ herlcal WO ball of 12
3} f:)l:: divided int eight ;dentical parts
by P es passing throu
: c:m diamet What is the surface
i::o p final piece ?
ar’ .
@ "3
b 2
2
Y 31/0
,,/ %
e Y
pnr’ | M

The
mean we;
. €1 ght P
0 k : of @Smdents in .

s i3 Qood — T

(b) 1:1

© 2:1 g
() 223 Q?goo

Two ‘towers 4 and B of height 23m
and 11_ m respectively, stand 9 m apart.
A straight rod is joined to the two tops
of the towers. A monkey sitting on the
top of 4, climbs the rod to reach the

top of B. If the monkey takes 5 minutes
to reach the other end, what is the
onkey ?

average speed of the m

trolley with tWO0 wheels one metre
art is moved clockwise on the
around a ground with
radius 50 m (described by right wheel)-

If the size of each wheel is of 1 foot
radius and the right wheel turns 1000
times, how many times will the other

ap
circular track

ggb‘”wheel turn ?

I

¢

Y

(b) 1015

(d) 1025

A 5.
A vertical p

~ base of the pole is

(2) 1010

(© 1020
g £

What is the remainder when '
7OX71X72X73X74X75X76X77

x 78 x 79 is divided by 1000 ?

(@ 3.
(b) 2
(© 1
@ 0

ole of length 80m is

the horizontal plane. ‘The
at P. There are tWo

h that P, 4, B are on-
the same straight line. Let the angles of
elevation of top of the pole from 4 and
B be o and p (@ >B) respectively. If
P4=64m and AB=36m, then what 1s

(atp) equal to ?

situated on

points 4 and B suc

(@) 60°

() 90°
© 120°

d 135°

B ~ RAKU-T-EMT

g A0f |



1. T 0§ 150 B o WA WK (mean
weight) 60 kg ¥ | =& 3wt @ wmer
R 70kg R SEwt @ 55k % |
SO R e @ wem 6 e 3
SRRINEC Y| i S |
@ 1:2
M) 1:1
© 2:1°
d 2:3

z'amAﬁ-B'ﬁﬁ'ﬁ@mT:'
23m 3R 1lm }, @Y 9m &
R R R € 1 Wt e ¥ et @y
T HIeht B3 & et o 2 | 4 % o
Waa??“?vi'«,b’éwﬁﬁmug'aﬁ%
g o8 w s # 1 Ak A W
R ag & forg 5 fre o €, &
éﬁ(iﬁﬁﬂam(spccd)w%?
(2) 10 m/min

(b) 5 m/min

(¢) 10 cm/sec

(d) 5 cm/sec

. TF P A MR wws @ G
2 TF B A Y TR 9 T A Hed
e a6 wdew ww # feta feram

(@) .Ef.z_

®) mrt

4. T o, e T R A @ AR R

AR 50 Hex B T (Sd wfeq T}
7 fg ™ F fg) TER ¢F W
aforad (clockwise) FATAT ST ¢ |
7f v ufw A Brewn & A 1 FE
2 3R e wREr 1000 9K T B, A
a1 afean feat aIR S 2

(a) 1010

() 1015

(c) 1020

(d 1025

s.70x71x72x73x74x75><76x7#
x 78 x 79 & 1000 ¥ fawa w3 W
AYEHS FT BRI ?

@ 3

® 2
© 1
@ 0.

6. 80 m WATE T TH FeANR W A
RIS HARPRE |
Afg AR BREW P4 BT
et Y1 W E | AW AT 4 I B
&% 3 ofvd o S BN a KB
(a>ﬁ) %‘ 'qﬁ PA=64m 3R
4B=36m E A (a+p) FrEw T
2. o
(a) 60°
(b) 90°
(c) 120°
(d) 135°



